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CXOMNINS S COMNNST:
Some used the wrong beam angle, but the method was correct. The last part on an interface
circuit was rather variable in quality, but there were some very good attempts.
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CxonQSS COMWARTY:

A fairly popular question, aiihaaghdetaﬂs of materials and processing was often missing in
the fabrication descriptions. Most candidates made a good attempt at the accelerometer
device calculations although the additional complexity of the gyro stalled many.
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Gotwners comweny:

A very popular and well attempted question, which was quite straightforward in nature.
The magnetic flux density, sensor response bandwidth and impedance were quite well
handled, but the last parts on noise and thermal drift proved more challenging for most.

-




'l S;w\ 43

@) oS 2R Al
PM = § S’L@s&d&
/] P T ST
o= | ] Tecsbsiia
Cor labefion mre e
1= %&SS = Zx f_foco?@ rTand AR
LS

= 2 F s &S
Jo o
1
P fr L@ ens) e o
- \S. \\%QNG{‘\& Col@ :‘1\\\ \\D,sc\sﬂrt (&(\Qve— jo: ?’lﬁfl
e \LaboNo cupe 0 :)\;( bv\q‘t\‘ﬁex/ @ ™Moy | {15/:(

Ly@ Y e ’;SﬂD& WS jt;\eow&% X= 3mn
[=vomm  x= XFIH

T Q\r\u&{ &\%&O@/\&Q— "6@6\‘(5 Sy (Q/ 1 >\‘5 = 39m PQ\W—
» \ =30 = \T ' ‘(\br\—-am\‘)‘\ \;{
2o MoX. fowvge ?;— e y 5

A \M\U‘? %2 Cor 7’02 Law%@n N;&S(ﬂb\h%
N o Fwmwd Ml Wit T =TS
foae \Swn R va\fems?‘% @ tonwd wedewe. 1= Ko
. - n
S Pif_‘%% RY’O\ \/avw\)eb\!{o— 3\“‘8‘9\1& T
NS | (o W2 gor \%Ve‘}ie S

: A= _
N Qwe\/ receired = __\_‘(9@*\0775‘ @f-hub} = o3l AW
1 ASE

-
ZEJ? - o Yens I:?Dg/“]

.-.‘q.—-




N \] WRTRS = o028 P\( s hy
s Gan R ,
(Z Ol BRRESF N
Nw o€~=x~\() = o-l HK:;(LX l()eﬂ \(’%— = Q27 9\'\{ w3 . S b)
(Lnx €) |
-. S}M = 2FW L zg - 5748

hss|

A(Q I28% = =l \'-M?&;)mx = 2N

. ~ S ¢ S
w = 2T W o N3 Sg g C

: ( vV 9\&

%e@w\ ;S (J\m\@ b\\s (Q G\‘Q) flgf \MQ\Y(%% revge. X inNerse. foVC“"\\qUJ .

h 2. ——% 2
@uam\ r&ex«.q}\ = O'?MSB, 71 20»&\633 1o 0: Qtﬁ\ﬁ\; '

It

— o'b& 5
o, |O = 3l 5o ‘Q:L
e %\\:\L \3 i}:@fﬁ\)\b&:\
fepnnp - - - —_ oo FE . .
W\K {t= S o oo\ - © . %J\;z Sotre
5\ K- xo Vol WG WL
&-as o413 0 15g (G- N
| 3 9 Q6 %J 1€l w2 Sk el
l ‘@; 5 ol RAaN °
| ESA

| 3
GaINSS CoAnAenY
A very tmpopular question only attempted by a 1 undergrad. and 1 postgrad., and both of
these were partial attempis. The first part on Lambertian back-scatter was from the notes
and answered well, however, deriving the maximum range and signal strength proved too
difficult (even both are in the notes). This topic was new to the course this year.
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Coriners CoOMMeY:

A very populat-an& well answered question. Most candidates could derive the raw signal
level under load, and made good attempts at estimating the thermal time-constant of the

gauges. However, the offset due to asymmetric thermal coupling was only correctly
answered by a few candidates.
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